1.
EITHER

4In2-3m2="Ink
4In2—-6mh2=—Ink

2h2=-lhnk
n2*=-dnk
k=4
OR
In2*-h4="Ink
24 )
h= =ln k!
4:‘
2t
FER
— = 4_=E =4
2% 16

In(® — 1) =In(x + 1% + lnx(x + 1)
- Mx? -Dx+1)
(x+1)
m Mx =D x—10x+1)
(x+1)
=lnx(x—1) (= -x)

logs(x + 17} =2 =logs 2x
logs{x +17) —log; 2x=2
£ &
log | x+17 =
Y 2x A
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4.
22 _10x 27 +4=0
y=r
H7 10y +4=0
2P _sy+2=0

By factorisation or using the quadratic formula

y=1 y=2
2
»P= l »P»=3
2
r=-l =1
5.
221‘—2=21'_ g
1221:21_8
1

27 _4x2¥_32=0
(-8} +4)=0
=8 = x=3

Naotes: Do not award final Al if more than 1 solution is given.

gx)=0
logs|2logsx| =0
|2logsx| =1

1

logsx=%_
- 2

1 1
so the product of the zeros of gis 32 x3 2 =1
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EITHER
P nx—tn y=1
y {th ?Jm_ i MI1A1
- " X=4 V=2
Inx"+lny” =5 ) .
solve simultaneously
hx=i
f; M1
Iny=_
N ]
x=¢3 (=406)andy= e3 (=1.49) AlAl
OR
Int =1
>
= x=gy Al
Inx+hy=53
Inx7?=5
cyl=¢’ M1
ES_}'E .
¥ =¢l M1
v=ei x=¢f AlAl

(a) rewrnte the equation as (4x — 1)l 2=(x+5)n 8 + (1 — 2x) log,16 (M1}

(dr—1m2=(3x+15n2+4- 8 (M1YAL)
+ 2
y= A+16ind Al
E+ln2
b)) x=a (M1)
a=131% Al
Note: Treat 1.32 as an AP,
Avard AQ for =
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9

log,. y=2
|
log,.;x= —
4

so(x+ 17 =y
1
(17 =x

EITHER

Fol=+ 1)
x = -1, not possible
x=1.70,y=1727
OR
!
(x? +2x+2)% —x=0

attempt to solve or graph of LHS
x=1.70,y=727
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